
 

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent. 
If you have any questions concerning these instructions, please call Kimball Office Customer Service. 
 
© 2011 Kimball International, Inc.   T 800.482.1818     F 812.482.8300 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Contemporary/Transitional Tables  
Assembly Instructions 
 
1998751 Revision A-12 
Complete Series Master Packet 
 

 



Assembly Instructions

Contemporary Tables

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.

If you have any questions concerning these instructions, please call Kimball Office Customer Service.

Part No. 1741553 Revision D-10

Page 1 of 4

Table Bases

Tools Required

� Screw Gun � Tape Measure

� Phillips Bit � Pencil or Erasable Marker

Package Contents

Panel, Ellipse & Rectangle Bases

� 2x - 3" Glides (El. & Rt.) � 2x - 1 1⁄2" Glides (Panel only)

� 12x - #8 x 1" Panhead (El. & Rt.)

� 12x - #10 x 3⁄4" Panhead (Panel Only)

Cylinder, Square & Slab Bases

� 8x - L-Brackets � 6x - 1 1⁄2" Glides (Cyl. bases)

� 8x - #8 x 5⁄8" Panhead � 4x - 1 1⁄2" Glides (Sq. bases)

� 8x - #8 x 1" Panhead � 2x - 1 1⁄2" Glides (Slab bases)

� 12x - #10 x 3⁄4" Panhead (Slab bases)

Installation
Note: These instructions explain basic installation of

Cylinder, Soft-square, Square, Panel, Rectangular and Ellipse

bases to worksurfaces. For safety purposes, it is recommended

that more than one person move worksurfaces and/or

assemble tables.

1. For Round or Square one-piece tops, the square wood

base or cylinder base mounts in the exact center of the

worksurface. (Figure A).

2. Base orientation. (Figure B).

3. For one piece tops see Figure C.

4. For two-piece tops see Figure D.

5. For three-piece tops see Figure E.

Figure B

Figure C

Square Wood
Base

Cylinder
Base

Figure D

Center
Line

Center
Line

Center Line
Center Line

Bases centered on
splice, attach to
each top piece

A

A/2

B

B/2

C

C/2

D

D/2

Figure A
Figure E

A/2 B/2

C/2 D/2

A B

C D

A/2 B/2

C/2 D/2

A B

C D

15 3⁄4" 15 3⁄4"

15 3⁄4"15 3⁄4"

Center
Line

Center
Line

Center
Line

Center
Line

Center
Line

One Piece Tops

Two Piece Tops

Three Piece Tops



Assembly Instructions

Contemporary Tables

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.

If you have any questions concerning these instructions, please call Kimball Office Customer Service.

Part No. 1741553 Revision D-10

Page 2 of 4

Installation (continued)

6. For two-piece tops requiring 4 slab bases, attach a slab base

24 inches from each outer end, and attach a base 12 inches

from either side of the center splice. (Figure F).

Note: It is recommended that the edges of flanges be parallel

with the edges of the worksurface.

Note: When attaching legs with cable management access

holes, make sure legs are turned or positioned for most

efficient usage of cable management.

7. Attach eight mounting brackets to cylinder or square bases

using eight (8) #8 x 5⁄8" provided screws. Attach cylinder

bases to underside of worksurface using eight (8) #8 x 1"

provided screws through each hole in the eight top mount-

ing brackets. Tighten screws firmly, but do not over-tighten.

Attach glides. (Figures G & H).

9. Attach panel bases to underside of worksurface using twelve

(12) #10 x 3⁄4" provided screws through each hole in the top

mounting brackets. Tighten screws firmly, but do not over-

tighten. Attach glides. (Figures I).

Figure G

Figure H

Figure F

Figure I
Two-piece Top

Center
Line

12" from splice 24" from end

5⁄8" Panhead
1" Panhead

1 1⁄2" Glides

5⁄8" Panhead

1" Panhead

1 1⁄2" Glides

1 1⁄2" Glides

#10 3⁄4" Panhead



Assembly Instructions

Contemporary Tables

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.

If you have any questions concerning these instructions, please call Kimball Office Customer Service.

Part No. 1741553 Revision D-10

Page 3 of 4

Installation (continued)

9. Rectangle panels are attached to leg frame with four clips.

Remove panels from leg frame by pulling apart. (Figure J).

10. Attach leg frame to underside of worksurface using twelve

(12) #8 x 1" provided screws through each hole in top

mounting plates. Tighten screws firmly, but do not over-

tighten. Attach glides. Note: Using allen head wrench or allen

head bit with drill works well to attach 3" glides. (Figures K).

11. Reattach panels to leg frame. Make sure to have an offset

between panels when clipping back onto leg frame. Then

slide panels together to provide tight fit. (Figure L).

Figure J

Figure L

Figure K

A B C

 1" Panhead

3" Glides

Trough positioned
up against table.



Assembly Instructions

Contemporary Tables

P
rin

te
d

in
U

.S
.A

.
©

20
09

K
im

b
al

lI
nt

er
na

tio
na

l,
In

c.
T

80
0.

48
2.

18
18

F
81

2.
48

2.
83

00

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.

If you have any questions concerning these instructions, please call Kimball Office Customer Service.

Part No. 1741553 Revision D-10

Page 4 of 4

Installation (continued)

9. Ellipse panels are attached to leg frame with four clips.

Remove panels from leg frame by pulling apart. (Figure M).

10. Attach leg frame to underside of worksurface using twelve

(12) #8 x 1" provided screws through each hole in top

mounting plates. Tighten screws firmly, but do not over-

tighten. Attach glides. Note: Using allen head wrench or allen

head bit with drill works well to attach 3" glides. (Figures N).

11. Reattach panels to leg frame. Make sure to have an offset

between panels when clipping back onto leg frame. Then

slide panels together to provide tight fit. (Figure O).

Figure M

Figure N

Figure O

A B C

 1" Panhead

3" Glides

Trough positioned
up against table.



Collaborative TableTM 

 

1  

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent. 
If you have any questions concerning these instructions, please call Kimball Office Customer Care. 

Part #,2562191  Revision -  

Assembly Instructions 

 

 

Conference Table Assembly 

Tools Required 

Hardware Required 

· Cordless  screw driver 

· Phillips Head Bit 

 

1. Attach the brackets to the modesty and end panels using 

#8x5/8 pan head screws, panels have per-drill holes to 

locate the brackets, also install mini-fix housing and dow-

els to modesty. Attach mini-fix stud and to end panels us-

ing 5mm pre drill hole. (Figure A) 

2. Attach modesty panels brackets to end panels using #8x5/8 

pan head screw in per-drilled holes in end panels,  also 

attach mini-fix stud too housing and tighten. 

3. To install the end and modesty panels too worksurface, 

place worksurface on a clean soft surface underside facing 

up. The end panels should be located with a margin of 

2mm or 5/64” around the front, side and back. Attach 

brackets to worksurface with #8x5/8 screws (Figure B).    

Installation 

· Brackets 

· #8 x 5/8 Panhead screws 

· Mini-Fixes Stud and  housing 

· Dowels 

Figure B 

Figure A 



Tables Assembly Instructions

Conferencing Solutions

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent. 

If you have any questions concerning these instructions, please call Kimball Customer Care Teams.

Part No. 1741602    Revision E-08

Page 1 of 2

Power/Communication Center

Tools Required

� #2 Phillips Head Bit � 5⁄32" Drill Bit 

� Power Screwdriver � Tape Measure

Package Contents

� 1 Power/Communication � 4 Table Brushes (discard

Center as they will not be used)

� AK-99 Insert Frame � #10 x 1⁄2" pan head screws 

with Brushes � #8 x 5⁄8" pan head screws 

� 4 L-Brackets � #8 x 1" pan head screws 

Description

The power/communication center mounts to the underside of

a table top that features an appropriately machined cutout.

The power/communiation center provides electrical and

telecommunication access to users seated at the conference

table. (Figure A)

Installation

1. Place table top upside down on a clean, hard surface.

The underside of the top has been machined with a stepped 

cut-out. The cut-out piece has been shipped in relative 

position using a flat bracket. Remove the flat bracket and 

discard. Retain the cut-out piece. (Figure B)

2. Unpack the power/communication center.

Note: Make sure that no items were damaged during shipping.

3. IMPORTANT: Pre-bore eight holes 1⁄2" deep using 5⁄32" drill

bit at mounting hole locations on underside of cut-out.

Attach the double-sided tape (shipped with the table top) 

to the flanges of the main housing. Carefully position the

cut-out piece on the main housing, making sure there is

equal overhang on all sides. Secure the cut-out to the main

housing using eight #10 x 1⁄2" pan head screws. (Figure C)

Note: Watch grain direction and make sure grain will be on

“top” when unit is mounted.

Figure A

Figure B

UND
ERS

IDE

Figure C

Main 
Housing

Inner Pan
Assembly

Cut-out piece
(wood or laminate)



Tables Assembly Instructions

Conferencing Solutions

P
rin

te
d 

in
 U

.S
.A

.
©

20
07

 K
im

ba
ll 

In
te

rn
at

io
na

l, 
In

c.
T

80
0.

48
2.

18
18

F
 8

12
.4

82
.8

30
0 

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent. 

If you have any questions concerning these instructions, please call Kimball Customer Care Teams.

Part No. 1741602    Revision E-08

Page 2 of 2

Installation (continued)

4. Flip the table top right side up. Install the AK-99 insert

frame/brush assembly. Press assembly firmly into opening in

the table top and drill four pilot holes for a #8 screw at each

of the four pre-drilled locations in the frame. Secure assem-

bly to the table top using the four #8 mounting screws 

provided. (Figure D) 

5. Make note of the grain direction and flip the table top

upside down. Align the power/communication center inner

pan assembly to the stepped cut-out in the underside of the

table top.

Note: Make sure the grain on the cut-out matches the grain of

the table top.

6. IMPORTANT: The following step is critical to ensure proper

stability and function of the unit. Drill twelve holes into

the table top 1⁄2" deep using a 5⁄32" drill bit at mounting hole

locations on the inner pan assembly. Secure the inner pan

assembly to the table top using twelve #10 x 1⁄2" pan head

screws. (Figure E) 

7. Position the four L-brackets  to opposite sides of the

stepped cut-out. The undrilled flanges on the L-brackets

should cover the flanges on the inner housing to provide

additional support to the power/communication center.

Secure L-brackets to the side of the stepped cut-out using

#8 x 1" pan head screws. (Figure E)  

8. Attach cylinder base(s) to the underside of the table top.

Place cylinder base over power/communication center and

position so that the wire management cut-outs are on the

centerline of the table top. Center the base on table top 

relative to each edge of top. Use tape measure to achieve

equal distance. Fasten cylinder base to underside of table

top using four #8 x ⁵⁄₈" pan head screws. (Figure F)

9. Position a horizontal cable manager for wire management,

if desired, between cylinder bases. (Figure G)

Figure D

Figure F Figure G

Inner Pan Assembly
Note: Must pre-bore holes
prior to securing assembly
to the table top.

L-Brackets

This portion
covers flange
on inner pan
assembly

Cable
Manager

Cylinder 
Base with
Hinged 
Door

Figure E

AK-99 Frame
and Brush

#4 screw

AK-99 Assembly
Table Top



Assembly Instructions

Universal

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.

If you have any questions concerning these instructions, please call Kimball Office Customer Service.

Part No. 2008524 Revision B-09

Page 1 of 1

Contemporary Table Tops

Tools Required

� Screw Gun � Adjustable Wrench

� #2 Phillips Head Bit �
7⁄64" Allen Wrench

Package Contents

� Levelite Bracket Covers � #8 x 1⁄2" Panhead Screws

Installation

Latch Pin Assembly:

Important: Four (4) Levelites per seam are to be used on all

60" wide tables and 3 piece 48" wide tables.

1. Place the worksurface upside down on a smooth,

solid surface. Match the straight ends and align the

levelite brackets. (Figure A).

2. For each leveling device thread the bolt into its opposite

bracket, attach nut, and tighten firmly. (Figure B).

3. After bases have been installed and table/base assembly is

turned up right, use the leveling set screws in the levelite

brackets to align straight ends of the assembly. (Figure B).

4. Attach the cover using the #8 x 1⁄2" panhead screws provided.

(Figure C).

Figure B

Figure C

Cover

P
rin

te
d

in
U

.S
.A

.
©

20
09

K
im

b
al

lI
nt

er
na

tio
na

l,
In

c.
T

80
0.

48
2.

18
18

F
81

2.
48

2.
83

00

Figure A

1⁄4"-20 Bolt

Levelite
Brackets

#8 x 1⁄2"

1⁄4"-20 Nut

1⁄4"-20 Bolt

Set Screw
1⁄4"-20 Nut

Levelite
Bracket

4 Levelites Per Seam on 60" Wide Tables
and 48" Wide 3 Piece Tops

48" Wide Tables - 2 Levelites Per Seam
(2 Piece Tops Only)



Assembly Instructions

Universal

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.

If you have any questions concerning these instructions, please call Kimball Office Customer Service.

Part No. 2066778 Revision A-08

Page 1 of 1

Visual Board Installation

Tools Required

� Tape Measure � Power Drill

Package Contents

� Wall Unit � 2 Mounting Brackets

� 2 Washers � 2 Plastic Knobs

� 2 Bolts � 2 “L”Brackets

� Fastening Screws

Installation

1. After choosing the desired wall location, place the

aluminum wall bracket against the wall with the bottom

edge of the bracket 2 inches lower than the top of the visual

boards intended position. (Figure A).

Note: At this point it is critical to make sure that the bracket is

level.

2. Sribe a line across the wall at the bottom edge of the top

bracket. (Figure A).

3. Attach the top bracket to wall and mount the bottom rail in

the same manner keeping a distance of 44 inches between

bracket. Note: You must make solid contact with at least three studs

in wall.

4. The visual board has 2 fastening points at the top back side,

these will slip over and down the top edge of the bracket.

5. Prepare to hang unit by holding the bottom out from wall

approximately 2 feet and slip onto top bracket.

6. Tilt bottom in until it rests against the bottom bracket.

7. Secure visual board by inserting bolts through square holes

and 2 small “L” brackets that will slip under bottom lip of

bottom bracket. (Figure B).

8. Install washers & plastic knobs and adjust bottom corners if

necessary so board will hang plumb and prevent doors from

“racking”. (Figure C).

Figure A

P
rin

te
d

in
U

.S
.A

.
©

20
08

K
im

b
al

lI
nt

er
na

tio
na

l,
In

c.
T

80
0.

48
2.

18
18

F
81

2.
48

2.
83

00

44"

Scribe line along
bottom edge, do
not scibe line past
ends of bracket

Figure C

Figure B

2"

44"
Critical

Mounting Bracket



Assembly Instructions

Power/Data Center

Proper product installation, in accordance with these instructions, is the responsibility of the installing agent.

If you have any questions concerning these instructions, please call Kimball Office Customer Service.

Part No. 2223518 Revision B-10

Page 1 of 1

Tools Required

� None

Package Contents

� 1 Power/Data Center � 2 Retainer Clips

� 2 Cord Clips (1 Cord Clip on Small Unit)

Description

The power/data center rests snug in table tops that feature an

appropriately machined cutout. It provides electrical and

telecommunication access to users seated at the conference

table. (Figure A)

Note: It is recommended that two (2) persons be used to lift and

place power/data center into table top cutout.

Installation

1. Unpack the power/data center. If needed, attach 2 retainer

clips, one at each end on back of unit base. (Figure A).

Note: Make sure that no items were damaged during shipping.

2. Lift power/data center above table and run power cords

through cutout. Holding parallel and level above cutout,

carefully lower power/data center into table top. (Figure B).

3. Use cord clips to retain any loose or hanging cords. (Figure C).

4. Plug in units under table where necessary.

Figure B

P
rin

te
d

in
U

.S
.A

.
©

20
09

K
im

ba
ll

In
te

rn
at

io
na

l,
In

c.
T

80
0.

48
2.

18
18

F
81

2.
48

2.
83

00

Figure A

Retainer Clips
(if needed)

Retainer Clips
(if needed)

Attached
Retainer Clip

Figure C
Cord Clip

10" Power/Data
Center

40" Power/Data
Center

10" Power/Data
Center

40" Power/Data
Center


	1998751 New 
	1741553 Cont Tables Wood Base
	1741602 Power Communications Center
	2008524 Universal Contemporary Table Top
	2066778 Visual Board
	2223518 Power Data Cntr


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /PageByPage
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends false
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Remove
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
    /MyriadPro-Bold
    /MyriadPro-BoldIt
    /MyriadPro-It
    /MyriadPro-Regular
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


